Quiz

Which of the following disorders does Jason most likely have?
Mark the correct option.

e Schizophrenia

e Delusional disorder

¢ Antisocial personality disorder
Correct Option: Delusional disorder
Feedback for First Option
That’s incorrect!
Schizophrenia is an incorrect diagnosis. Jason did not experience any hallucinations, disorganized speech,
disorganized behavior, or the other Criteria A symptoms of schizophrenia, such as a lack of speech,
emotion, or movement.
Feedback for Second Option
That'’s correct!
This is the most likely disorder for Jason. He has had nonbizarre hallucinations due to believing that he is
loved by someone famous and that they could become a couple after he kidnapped high-profile individuals
to get noticed by her.
Feedback for Third Option
That’s incorrect!
Antisocial personality disorder is an incorrect diagnosis. The vignette doesn’t mention whether Jason had a
history of conduct disorder as a youth, which is a required criterion for antisocial personality disorder.
Without knowing that key piece of information, a diagnosis of antisocial personality disorder could not be
made. However, even if he does not meet the criteria for antisocial personality disorder, this does not mean

that he did not commit a very serious crime. It's important to remember that not every criminal has
antisocial personality disorder, although many do.
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